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The following table shows the details of

(1) number of outlets,

(ii) average sales (in ¥ Lakh) per outlet, and

(ii1) total profit (in ¥ lakh) of all the outlets of six HP-showrooms A-F selling Laptops in two years 2020 and
2021.

Based on the data in the table, answer the question.

H.P. Showroom wise Sales and Profit Figures in two Years.

Total Profit
= e Average Sales kot
7 Qutlets s (in ¥ Lakh) of all the
Showrooms (i Ed La.kh) per Qutlet Outlets
2020 | 2021 2020 2021 2020 2021
A 2 3 100 110 80 120
B 1 6 340 360 250 100
C 1 3 120 140 80 100
D 5 6 130 240 240 360
E 3 1 360 350 300 320
F 5 5 80 60 30 30
Fafafaa arfeet J & auf 2020 3R 2021 & @Ueld 994 a9 : (A-F) Ta.U. UR=dl & i fasg gl @
faa=ur
(i) fara dei (3m3eey) ot d@=
(if) Tfr faema & Siid faspt (@me =au o)

(iif) Tt faspg Sl 1 o @y (@ F U ), WERid fearman g |
qfeied] H UEgd ST S| o YR IR U4 BT IR SIoTe:

3 gyl f Ua-dl. TRl & AR fawi SR a3

; T fapa gl
. fara St @1 | uf v ¥w ofa 7 T (T
2w HEm fawt @@ suE H Fqu
2020 2021 2020 2021 2020 2021
A 2 3 100 110 80 120
B 4 6 340 360 250 400
C 1 3 120 140 80 100
D 5 6 180 240 240 360
E 3 4 360 330 300 320
F ) 3 80 60 30 30

If the profitability per outlet is the ratio of average profit per outlet to the average sales per outlet, then the
profitability per outlet was the highest in 2020 for the HP-Showroom.
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1[Option ID=35501] Question Description : general_paper_genarel paper_set 21_english_q1
2[Option ID=35502]
3[Option ID=35503]
4[Option ID=35504]

Sl. No.2
QBID:21201002
The following table shows the details of

(1) number of outlets,

(ii) average sales (in ¥ Lakh) per outlet, and

(ii1) total profit (in ¥ lakh) of all the outlets of six HP-showrooms A-F selling Laptops in two years 2020 and
2021.

Based on the data in the table, answer the question.

H.P. Showroom wise Sales and Profit Figures in two Years.

. Average Sales L Mt
Hp- Number of
Showrooms MicR {(in ¥ Lakh) per QOutlet (3 Lgﬁ%;sf e
2020 | 2021 | 2020 2021 | 2020 | 2021
A 2 3 100 110 80 120
B 1 6 340 360 250 100
c 1 3 120 140 80 100
D 5 6 180 240 240 360
E 3 1 360 350 300 320
F 5 5 80 60 30 30
Fafaf@a aiferer & g7 aut 2020 3R 2021 H A9l 894 dId B: (A-F) .U T=Hi & 9t fagpa dgl &t
faa=or
(i) faspg Bsl (3M3edcy) ot T
(ii) U faopa & siid fawt (ara =uu )

(iii) T Faepa sl 1 P oM (A1 =9U H), TeiRid e man g |
i1 5 UEd 3Hihsi & YR U U DI Ik ifoil:

31 ol § ga-t. e & SR ! SR ard i

o, | REHER | o R g e | T T R
e ke fawt @ra FuT %) FTT
2020 2021 2020 2021 2020 2021
A 2 3 100 110 80 120
B 4 6 340 360 250 400
C 1 3 120 140 80 100
D 3 6 180 240 240 360
E 3 4 360 350 300 320
F 3 3 80 60 30 30
HP-Showroom experienced the highest percentage increase in average profit per outlet in 2021 over
that in 2020.
LE
2.8
3A
4.D
1) 1
(2) 2
(3) 3
(4) 4
oy 2020 & T a¥ 2021 & e w9, . <iew T widfaea $x siad oy ¥ waifde fowd gfs <o &
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1[Option ID=35505] Question Description : general_paper_genarel paper_set 21_english_q2
2[Option ID=35506]




3[Option ID=35507]
4[Option ID=35508]

Sl. No.3
QBID:21201003
The following table shows the details of

(1) number of outlets,

(ii) average sales (in ¥ Lakh) per outlet, and

(ii1) total profit (in ¥ lakh) of all the outlets of six HP-showrooms A-F selling Laptops in two years 2020 and
2021.

Based on the data in the table, answer the question.

H.P. Showroom wise Sales and Profit Figures in two Years.

- Average Sales ol Deofiy
P Number of =
; _ " )
Showrooms MicR {(in ¥ Lakh) per QOutlet (i X Léulgefsf e
2020 | 2021 | 2020 2021 | 2020 | 2021
A 2 3 100 110 80 120
B 1 6 340 360 250 100
€ 1 3 120 140 80 100
D 5 6 180 240 240 360
E 3 1 360 350 300 320
F 5 5 80 60 30 30
FFafaf@a aiferer & g7 aut 2020 SiR 2021 § A9l 894 W B: (A-F) 9.4, W=di & 9t fagpa dgl &t
faavo
(i) faspg Pl (3M3eiey) ot T
(ii) U faopa & siid fawt (ara =uu )

(iii) T Faepa sl 1 P oM (A1 =9U H), TeiRid e man g |
qTfciep] H Ed TS| & HUR TR WY BT FaR SIor:

31 oul § TE-UT. R & STER ! SR oy 1

os . T fama wEl
— fawa H3i i uﬁrﬁm%ﬁ:aﬂm RSN
e @ oot mr@ T H) FTT

2020 2021 2020 2021 2020 2021
A 2 3 100 110 80 120
B 4 6 340 360 250 400
C 1 3 120 140 80 100
D 3 6 180 240 240 360
E 3 4 360 330 300 320
F 3 3 80 60 30 30

For all the outlets of a given showroom, if the total profit is equal to the total sales minus the total investment,
then the total investment of HP-showroom F in the year 2020 was :

. % 380 lakhs
. % 330 lakhs
. X 370 lakhs
. % 300 lakhs
(1)1
2) 2
3) 3
(4) 4

fau U 3Tl & Wil fopa S5 5q A8 a a1y P (91 § U pd Fa¥ & 9eH & 918 U AR &
TRIER g, 1 a9 2020 § T4, U, UR=H F &1 $dl Ha [ =TT U1 2

da W B =

1.3 380 dlg
2.3330Wg
3.3370¢g
4.3 30079
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=35509] Question Description : general_paper_genarel paper_set 21_english_q3
2[Option ID=35510]

3[Option ID=35511]
4[Option ID=35512]




Sl. No.4
QBID:21201004
The following table shows the details of

(i) number of outlets,

(ii) average sales (in ¥ Lakh) per outlet, and

(iii) total profit (in ¥ lakh) of all the outlets of six HP-showrooms A-F selling Laptops in two years 2020 and
2021,

Based on the data in the table, answer the question.

H.P. Showroom wise Sales and Profit Figures in two Years.

. Average Sales Total Profit
Hp- Number of .
Showrooms Outlets (in ¥ Lakh) per Outlet (n% Léalzlg;:sf all the

2020 [ 2021 2020 2021 2020 2021

A 2 3 100 110 80 120

B 4 6 340 360 250 400

C 1 3 120 140 80 100

D 5 6 180 240 240 360
E 3 4 360 350 300 320

E 5 5 80 60 30 30

Fofafaa arfeet 7 & auf 2020 3R 2021 & AUl 99+ a9 : (A-F) T34t =dl & i fasrg i @
faa=ur

(i) faspg Pl (3M3ediey) ot T

(i) wifci faspa &5 sid faw! (@rg =uu )

(iii) T fIepa Sl 1 Pl a1H (A =9U H), TRl e man g |

difcreT 5 UEd 3ihs! o YR U UH BT Fk foll:

3l aul § va-Ul. IRl & uR fde] SR any i

o, | FERER | o R e [T R
Trew HE ot (@@ T H) FTT
2020 2021 2020 2021 2020 2021
A 2 3 100 110 80 120
B 4 6 340 360 250 400
C 1 3 120 140 80 100
D 3 6 180 240 240 360
E 3 4 360 350 300 320
F 3 3 80 60 30 30
Total sales from all the outlets of a showroom was the highest in the year 2020 for the HP-showroom
1.A
2.B
3.E
4.C
1)1
2) 2
3) 3
4) 4

it =1 =1 & Wit oo sl 1 ol f9shi v 2020 T v U= Ut x=w & walies o 2

L =
QW

1) 1

(2) 2

3) 3

(4) 4

1[Option ID=35513] Question Description : general_paper_genarel paper_set 21_english_q4
2[Option ID=35514]

3[Option ID=35515]
4[Option ID=35516]
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The following table shows the details of

(1) number of outlets,

(ii) average sales (in ¥ Lakh) per outlet, and

(ii1) total profit (in ¥ lakh) of all the outlets of six HP-showrooms A-F selling Laptops in two years 2020 and
2021.

Based on the data in the table, answer the question.

H.P. Showroom wise Sales and Profit Figures in two Years.

. Average Sales L M
Hp- Number of
Showrooms MIER (in ¥ Lakh) per OQutlet (3 Lgﬁg;ﬁ R
2020 | 2021 | 2020 2021 | 2020 | 2021
A 2 3 100 110 80 120
B 1 6 340 360 250 100
€ 1 3 120 140 80 100
D 5 6 180 240 240 360
E 3 1 360 350 300 320
F 5 5 80 60 30 30
frofafaa arfaet 3 g1 auf 2020 3R 2021 & AUl 99- ad 8: (A-F) Ta.4t. OR=dl & 9t fasa &gl @
faazor
(i) faspg Pl (3M3eiey) ot T
(if) Ul faopa & Siid fawt (ama =uu )

(iii) T Fasha sl 1 P oM (A1 9T H), TiRid e man g |
qTfciep] H WEd TS| & HUR TR WY BT JaR SIort:

31 oul § TE-UT. R & STER ! SR oy 1

: Tt [Ipa Hal
g, | FEIFES | o s o o oy o
e @ Pt @@ s H) T
2020 2021 2020 2021 2020 2021
A 2 3 100 110 80 120
B 4 6 340 360 250 400
C 1 3 120 140 80 100
D 3 6 180 240 240 360
E 3 4 360 330 300 320
F 3 3 80 60 30 30

The ratio of percentage increase in sales to the percentage increase in profit for the HP-Showroom D in all the
outlets in 2021 over 2020, was

1.8:9
2.11:13
3. A740
4.6:5
1)1
(2) 2
(3) 3
(4) 4

a¥ 2020 & T a9 2021 ¥ AT D & Wt 3 il 7 faspa ufaera ofS 3 @ vl afs &1 sruma
|

1.8:9
2.11:13
3. 3719
4.6:5
(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=35517] Question Description : general_paper_genarel paper_set 21_english_q5
2[Option ID=35518]

3[Option ID=35519]
4[Option ID=35520]

Sl. No.6
QBID:21201006




Given below are two statements:

Statement-I: The objective of the memory level of teaching is to develop rational and critical thinking among
students.

Statement-II: The objective of the reflective level of teaching is the ability to develop independent thinking
and decision making among students.

In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement IT are false.
3. Statement I 1s true but Statement II is false.
4, Statement [ is false but Statement II is true.

1 1

@) 2

(3) 3

(4) 4

TRITuERTmE
FUF 1 : &0 F W TR 51 Iz faenfia § aifbe oIk sadees fHas 1 fdefaa a8 |

%lézﬁwéaﬁmbwmmﬁ@ﬁﬁﬁmﬁaﬁaﬁ?%ﬁﬁmﬁﬁﬁﬁmmaﬂ
T g |

JURIGd HU & 3HTald H, Aild 4T 70 fadhedl T 95! 3R &1 994 DIIE:

Y I IR I g T B

HYF 1 R 11T A B

FYT 1T, AP FYT I I B
. HYF 1 AT 8, Ao YT 11 9 8
(1) 1

() 2

(3) 3

(4) 4
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1[Option ID=35521] Question Description : general_paper_genarel paper_set 21_english_q6
2[Option ID=35522]
3[Option ID=35523]
4[Option ID=35524]

Sl. No.7
QBID:21201007

Given below are two statements:

Statement-I: Course material provided through digital platform like SWAYAM, helps learners go through it at
any time and at any place.

Statement-II: Discussion boards work as ansynchronous medium as anyone can post any question or reply at
any time.

In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement IT are true.
2. Both Statement I and Statement IT are false.
3. Statement [ is true but Statement II is false.
4. Statement I 1s false but Statement IT is true.

(1)1

(2) 2

3) 3

(4) 4




e @ pyF fag e &

HYT1 : WYY o 19 & H1eAH I gt UredsH Sl SRl o [l Hf 9y uR SR fol off
WHAWR UG/ UG H GeAdT i 6 |

FYTI1 : T91 G150 STADIAD H1eH & T 1 B R & Fid Dig Ul siftmmad ol fammw
TY U1 IR 'R B bl © |

SR HYA & JHTelE |, id 48 U fdehedl § I Us! 3t &1 94 SIfofe:

1. BY AR GH 9T B
2. DY AR I ST SEA B
3. T 1 TT €, Afh PUT 11 3T &
4. DY T S, AP YT I FA ©
1 1
(2) 2
3) 3
4) 4

1[Option ID=35525] Question Description : general_paper_genarel paper_set 21_english_q7
2[Option ID=35526]
3[Option ID=35527]
4[Option ID=35528]

Sl. No.8
QBID:21201008

Which of the following are the characteristics of Teacher centered classroom management?

A Discipline comes from self

B. Teacher is the sole leader

C. Students are facilitators for the operations of the classroom
D. Students are allowed limited responsibilities.

Choose the most appropriate answer from the options given below:

1. A, B and C only
2. Cand D only
3.B and D only
4. A, Cand D only

1)1

(2) 2

3) 3

(4) 4

o7 Ffga o 9 It RI6107 - i Ha uey= o1 fadvan 8 2

A. IR WY A U@ BT g |

B. & wonE =t (3@ 3 |

c. faendl Fen & wareH & [y gra@di g |

D. faenfial &1 Hiffg STrafiE! &1 sFEf o 8 |

Hie fqu g fomedl & I 99 Iuged SR &1 90 ol :

1. FATA, B IR C
2. %ad c AR D
3. %ad B IR D
4.FAAA, C IRD

1) 1

() 2

3) 3

@) 4

1[Option ID=35529] Question Description : general_paper_genarel paper_set 21_english_q8
2[Option ID=35530]
3[Option ID=35531]
4[Option ID=35532]

Sl. No.9
QBID:21201009




A person solves linear equations in algebra for a number of days and becomes progressively more efficient in
solving linear problems. He not only becomes more accurate in his work but also solves the problems much
faster. This progressive improvement in performance is a form of transfer known agz

1. Learning to learn

2. Generalization

3, Transposition

4. Identification

(11

(2) 2

(3) 3

(4) 4

s Afdd 3 &A1 da siioriorg § ¥XRa® THiEul &1 a1 &Rdl § SiR Xfad gawef & gau= 8

Bis 9 T AfE g8 81 a1 ¢ | 98 YHN3T & UM § 7 $aa e IS &1 o 8, sfed D

<o T TS &1 JHINH HRd1 § | FeA § 0% B JUR TR0l (TRad) 31 IS ¥4 §, !
TH I TS |

1. ORa= &1 fenms
2. BT
3. yH-fafg (cramiforer)
4. 3ffiE=

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=35533] Question Description : general_paper_genarel paper_set 21_english_q9
2[Option ID=35534]
3[Option ID=35535]
4[Option ID=35536]

Sl. No.10
QBID:21201010

Which of the following statement best describes lecture method of teaching?

1. Small step presentation with feedback provided
2. Content delivery in a lucid language
3. Production of large number of ideas
4. Theme based interaction among participants
(1) 1
(2) 2
3) 3
4) 4

fafafad & 9 o 91 $y &0 &1 e S &1 9ui- Jafau ST A Hare -

1. e Uidgfy & |y oy J9H Ugfaeh o
2. ey YN H favg-asd udfd
3. faaRi @1 ggd 9 &1 Idre
4. gyl & o= fawg snenRa srarafear
(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=35537] Question Description : general_paper_genarel paper_set 21_english_q10
2[Option ID=35538]

3[Option ID=35539]
4[Option ID=35540]

Sl. No.11
QBID:21201011

A research paper evaluated by other experts either for publication or presentation at a conference is considered
to have undergone:

1. Peer Review
2. Public Review
3. Private Review
4. Research Review
(1)1
(2) 2
3) 3




) 4
i fordt 9y o= & YT a1 39 [l ohd | Uedieu 8g SHST Heuic (el 3 [a2ws grI
fPararar e, A ST T AFTSIAT S

1. GOHE gHian
2. Frao=® IeteT
3. Froft Teften

4. ST HTAT

1) 1
(2) 2
(3) 3
4) 4

1[Option ID=35541] Question Description : general_paper_genarel paper_set 21_english_q11
2[Option ID=35542]
3[Option ID=35543]
4[Option ID=35544]

Sl. No.12
QBID:21201012

When knowledge becomes replicable and verifiable, it is then called

1. Humanistic
2. Impressionistic
3. Scientific
4. Subjective
(1) 1
(2) 2
3) 3
(4) 4

WE I YARIGRT 3R T R 17 Bl Sl @, o 59 BT ol § -

1. Hadmard!
2. JYTadret
3. aEIE®
4. Gy
1) 1
() 2
(3) 3
4) 4

1[Option ID=35545] Question Description : general_paper_genarel paper_set 21_english_q12
2[Option ID=35546]
3[Option ID=35547]
4[Option ID=35548]

Sl. No.13
QBID:21201013

Which of the following are the criteria of a successful interviewer?

A Ethical

B. Open Minded

C. Gentle and Sensitive

D. Balanced

E. Rigid and Harsh in comments.

Choose the correct answer from the options given below:

1.A.B.C,D only
2.B.C.D.E only
3.A.C.D.E only
4. A . B.D.E only

(1) 1

@) 2

3) 3




FafaRad ¥ ¥ % e REdl & o HHCUS § »

A. SRS
B. ol AT qra

C. T 3R Ydgqeld

D. Tqferd

E. 30Tt femforat # §81 iR d6R

i< fau ¢ fasdeul & ¥ Il IR &1 994 Diforg:
1.%dd A, B, C.D

1[Option ID=35549] Question Description : general_paper_genarel paper_set 21_english_q13
2[Option ID=35550]
3[Option ID=35551]
4[Option ID=35552]

Sl. No.14
QBID:21201014

Which of the following are ethical problems in research?

A. Plagiarism

B. Coercion

C. Breach of confidentiality
D. Beneficence

E. Fidelity

Choose the correct answer from the options given below:

AB, C only

.B.C.D only
3.C.D.E only
4. A . D.E only

1)1

(2) 2

(3) 3

(4) 4

fofafed ¥ 9 oE-dt oy 31 Hifara aoard |
A. TIiefde IR (wiferaiem)

B. AWM
C. Tg=rgar Hi1 foear ST

D. S9Nl
E. SHMER!
=i fau Tt famedl o 9 el 3R &1 90 Bifor:

ko =

1) 1

(2) 2

3) 3

4) 4

1[Option ID=35553] Question Description : general_paper_genarel paper_set 21_english_q14
2[Option ID=35554]

3[Option ID=35555]
4[Option ID=35556]

Sl. No.15
QBID:21201015




Given below are two statements:

Statement-I: For open-ended questions, respondents can produce their own answers without any restriction of
length.

Statement-II: The memory phenomenon of telescoping is not an issue in survey research.
In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are correct.

2. Both Statement I and Statement II are. incorrect

3. Statement I is correct but Statement II is incorrect.
4. Statement I 1s incorrect but Statement II 1s correct.

1)1
(2) 2
3) 3
(4) 4

-4 d Py Ry MU &

PYFTL: 397 -TS8 Ul & AU, SR GaTg & §e 4 3fed 30 IR o 9o & |
FYF 11 : GA&01 Ty H Sferep i &t wfa ufkge1 $t smen T8l sl © |

SIRIEK] HU & el H, i 3T T faspedl & § 99 Iuga IR &1 949 Hifort:

DY IR 11 S T B
HYF IR I TAd
. HYF 1 9l 8. Afthd YT 11 Tad B
. HYF 1 7TAd ©, b HUF 11 FaT ¢

1)1
(2) 2
(3) 3
(4) 4
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1[Option ID=35557] Question Description : general_paper_genarel paper_set 21_english_q15
2[Option ID=35558]
3[Option ID=35559]
4[Option ID=35560]

Sl. No.16
QBID:21201016

The preface to a book is an example of:

1. Convoluted communication
2. Ritualistic communication

3. Informal communication

4, Feed forward communication

1) 1
(2) 2
(3) 3
(4) 4

o<l GEaep o1 ST (bl 3ETERUI§ 2
1. Yaferd (P1-aIgcs) Gy
2. fawras (Rgufdies) emo
3 N

= 1
4. 9P SERY (B1S BRas) IHE0
(1) 1
() 2
(3) 3
(4) 4

1[Option ID=35561] Question Description : general_paper_genarel paper_set 21_english_q16
2[Option ID=35562]
3[Option ID=35563]
4[Option ID=35564]

Sl. No.17
QBID:21201017




A message beneath a message is often referred to as:

. Lower text

. Critical text
3. Appended text
4. Sub-text

(1)1

(2) 2

(3) 3

4) 4

U G359 & 19 e w1 &) forg =0 7 Hafifa frar oiar s »
1. Fa®R U L

2. TS U3 (fhfcdhd cae)
3. qa9 Us
4. 39418

(1) 1

(2) 2

(3) 3

(4) 4

b —

1[Option ID=35565] Question Description : general_paper_genarel paper_set 21_english_q17
2[Option ID=35566]
3[Option ID=35567]
4[Option ID=35568]

Sl. No.18
QBID:21201018

What precautions are necessary in the context of online information?

A. Discussion groups information is not amenable to checking.

B. There is no need to compare the information given by different websites.
C. Check the home page or the 'About us' section of the concerned website.
D. Do not trust the information without date.

E. Do not always trust the institution that owns the website.

Choose the correct answer from the options given below:

1.A B, Conly
i

.B.C.D only
3.C.D.E only
4.C. D, Aonly

(1)1
(2) 2
(3) 3
(4) 4

3T IS I & e B B ¥ Jarie Hads © 2

A. = Tl B g o & e e g E

B. [afifd U1 ey &R &l 15 a1 &1 q@1 B B Ha=IHdl 761 ¢ |
. JEIUd daarse & g1 UoT U1 '3fER3e 3 R olid & |

D. fafd & far a1 R fayrg 4 &3 |

E. T%d 98 U1 R Gy 7 3%, ! 9 de91se & |

=14 fau Tt faeedl O 9 el 3R &1 94 o

1.PAdA A, B, C
. $ddB,C.D
. HddC, D, E
. HaaC, D, A

1) 1
(2) 2
(3) 3
(4) 4

[ SO

1[Option ID=35569] Question Description : general_paper_genarel paper_set 21_english_q18
2[Option ID=35570]
3[Option ID=35571]
4[Option ID=35572]




Sl. No.19
QBID:21201019

Given below are two statements:

Statement-I: In the transmission model of communication, the emphasis is not on the process of
communicating.

Statement-II: On the other hand. the symbolic model does not focus on the process of exchange of
information.

In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement II are false.
3. Statement I is true but Statement II is false.
4, Statement I 1s false but Statement II is true.

(1) 1

(2) 2

3) 3

(4) 4

TR FEfRrme:
Y1 : TN & IRV e (CHRE Aise) J THN0 &1 Uithdl R a6 g [Ga1 ol § |

FYH 11 : SHS [AIRA TclbTad el q@1 & siem-HeH &t 9ithal IR & Hfsd 78 $Ral g |
JWRIad HYA & JHTelld 4, 9 4 U fddhedl T § 9el 3t &1 99 S Ifolt:

HYT I AR IS T g

HYT 1 IR 1A A Bl

. FYFT 19 g, AT HY I 3T 8
. HYF 1 AT 8, Ao ST 11 9 8
(1) 1

) 2

(3) 3

(4) 4

Lk

1[Option ID=35573] Question Description : general_paper_genarel paper_set 21_english_q19
2[Option ID=35574]
3[Option ID=35575]
4[Option ID=35576]

Sl. No.20
QBID:21201020

Match List T with List IT

LISTI LISTII
(Communication Codes) (Characteristic)
A |Natural code I |Reflection of mass or collective perception
B. [Technical Code I1. |Appreciation of cultural artifacts
C. [[declogical Code II1. [Reflects the socio-cultural world
D. |Aesthetic Code IV. |Operational modes of media

Choose the correct answer from the options given below:

. A-L, B-1, C-II1, D-IV
AL B-IIIL, C-TV, D-1
CA-IIL B-IV, C-1. D-1I
ATV, B-1, C-I1, D-IIT
1)1
() 2
3) 3
(4) 4

S




el 1 I1Y Yl 11 &1 [HeH $ifore

N T —— i mwﬁwwww
8. oot afen - wmm@mmaﬁ

C. [Farfye dfgar IIL. %ﬁgm | Byl
D. [dicdme digdl IV. [oH HaR @1 YeieH (a8l

g feu TTT fadhedl # ¥ Ul IaR &1 99 Bifolu :

. A-L B-1I, C-II1, D-IV
. A-ITL B-IIL, C-TV, D-1
CA-IIL B-TIV, C-1, D-TI
. A-IV, B-1, C-I1, D-III
1) 1
) 2
(3) 3
(4) 4

R S

1[Option ID=35577] Question Description : general_paper_genarel paper_set 21_english_q20
2[Option ID=35578]
3[Option ID=35579]
4[Option ID=35580]

SI. No.21
QBID:21201021

A man starts working from his home. He walks 20 meters in the west direction, then turns right and walks 30 meters. Thereafter he walks
10 meters in the east direction. Find the aerial distance between the end point and the starting point.

.10 /10m
. 100 4/ 10m
.104/5m
5./ 10m

b =

4

1) 1
(2) 2

(3) 3

(@) 4

U 3MTEHT 307 B U Ia1 S$INH Bl ¢ | 98 919W =0 H 20 Hex Iad] 6, 396 a18 alie- 3R Go®x 30 Hiex aadl & | 59P
15, 98 QRA fe=n I 10 Hiex Fadi g | 3Ry fdg 9 sifow &g & o9 o1 thaa (sreri) g8 I1d Sif |

. 10,/70 HIR
- 100,/70 HIeX
.10/ HicY
.5m1ﬂﬁ
1

2 2

3) 3

(4) 4

=2 =

a2

1[Option ID=35581] Question Description : general_paper_genarel paper_set 21_english_q21
2[Option ID=35582]
3[Option ID=35583]
4[Option ID=35584]

Sl. No.22
QBID:21201022

A 1s the son of B but B is not the father of A. How 1s B related to A?

1. Grandmother
2. Grandfather
3. Mother

4. Uncle

1)1

(2) 2

3) 3

(4) 4
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(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=35585] Question Description : general_paper_genarel paper_set 21_english_q22
2[Option ID=35586]

3[Option ID=35587]
4[Option ID=35588]

Sl. No.23
QBID:21201023

In a forest there are some Tigers and Peacocks. The total number of heads is 90 and the total number of legs is
240, Find the total no. of Tigers and total number of Peacocks in the forest i.e. (Tigers, Peacocks)

[ ]

)
)
)

(o N I S ]

0
0)

4) 4
U a1 H, B a9 R FY G | S el R S AAT 00 & 3R W 1 et U&A240 3 | I H a1l
P T 3R HGRI B S TAl (9719, HYR) T fb oy |

1. (35, 55)
2. (45, 45)
3. (40, 50)
4. (30, 60)

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=35589] Question Description : general_paper_genarel paper_set 21_english_q23
2[Option ID=35590]
3[Option ID=35591]
4[Option ID=35592]

Sl. No.24
QBID:21201024

What number should replace question mark (?) in the series given below?
125,129, 120, 136, 111, 147, 7

1.183
2.258
3.196
4.98
1)1
(2) 2
3) 3
4) 4

I3 1 1 g F. vyaEs $6 (7) B R0 = HH-H 8 91ey @

125,129,120, 136, 111, 147, ?

. 183
258
196
.98
1) 1
) 2
3) 3
(4) 4

b =

S V)




1[Option ID=35593] Question Description : general_paper_genarel paper_set 21_english_q24
2[Option ID=35594]
3[Option ID=35595]
4[Option ID=35596]

Sl. No.25
QBID:21201025

If in a certain coding language, A=26, G=20, GO=32, and SOME = 56, then the value of COME will be equal
to

. 60
2
.48
.36
1) 1
(2) 2
(3) 3
(4) 4

i Us Fi¥d $e UM H, A=26, G=20, GO = 32 R SOME = 56 8, 76 COME & A fh¥ds a=TaR I 2

e L b o

ks ot
=
&0

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=35597] Question Description : general_paper_genarel paper_set 21_english_q25
2[Option ID=35598]

3[Option ID=35599]
4[Option ID=35600]

Sl. No.26
QBID:21201026

Which logical fallacy is exemplified in the following statement - "No one can criticize the Freudian
psychoanalysis unless the one who criticizes himself has been psychoanalysed".

1. Ad Hominem
2. Appeal to authority
3. Appeal to Ignorance
4, Equivocation

1)1

(2) 2

(3) 3

4) 4

fgfafad o= 8 S8 9F SN &1 3ae fHadr € - ®is o wrsard! Ffavayy @1 9€ a6
STCTEAT T8l DR Febdl € oid do [ W94 3ATe=d $T el 71 fazeyor 7 & o mar g |

1. US giff-m
2. U R I8
3. REIHAD e
4, IFSE (3FPIU)
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=35601] Question Description : general_paper_genarel paper_set 21_english_q26
2[Option ID=35602]

3[Option ID=35603]
4[Option ID=35604]

Sl. No.27
QBID:21201027

Which of the following propositions is logically equvalent to the proposition - "All frogs are amphibians"?

1. No amphibians are non-frogs.
2. No frogs are non-amphibians,
3. Some amphibians are frogs.

4. Some amphibians are not frogs.

@) 1




) 2
3) 3
(4) 4

fFafafed o o I alogi i fee SUAR § » Wiima adbared 3 i 99 1§ §a4 © 2

1. PI% Y SHU=R IR-AeH TR gd © |
2. %15 W Hed IR-SHTR TSI eld 8 |
3. PO SUTRIESH A S |
4, PTIUTRAGH TS 810 © |
1) 1
(2) 2
3) 3
4) 4
1[Option ID=35605] Question Description : general_paper_genarel paper_set 21_english_q27
2[Option ID=35606]

3[Option ID=35607]
4[Option ID=35608]

Sl. No.28
QBID:21201028

If the proposition 'some fishes are not amphibians' is given as false then which of the following propositions
can be immediately inferred to be true ?

A. No amphibians are fishes.
B. All fishes are amphibians.
C. No fishes are amphibians.
D. Some fishes are amphibians.

Choose the most appropriate answer from the options given below:;

1. Aand C only
2. Cand D only
3. B and D only
4. D only

1)1

) 2

(3) 3

(4) 4

g P Aofodl SUTER g ¢ HoRIT & 3i9d & $U § 1 71 3 a4 Fefiiad 8 9 o 9
I 1 dTebTicier U J 9 BT SIHId [T o G § 2"

A IS N SHTR TS eI ¢ |
B. Tufi mefemai S1a=R |
c. &1s i o SR T8
D. $© Hoiol SHTR§ |

2 fau T foaedi € wed Suged SR 1 999 I

L. FaaAARC
2. %adC AR D
3. $Had B IR D
4.%adD

1

2 2

3) 3

(@) 4

1[Option ID=35609] Question Description : general_paper_genarel paper_set 21_english_q28
2[Option ID=35610]
3[Option ID=35611]
4[Option ID=35612]

Sl. No.29
QBID:21201029




Which of the following propositions are so related that they cannot both be true, although they may both be
false?

A. All frogs are amphibians.

B. Some frogs are amphibians.

C. Some frogs are not amphibians.
D. No frogs are amphibians.

Choose the most appropriate answer from the options given below:

1. Aand C only
2. Cand D only
3.Band C only
4. A and D only

1)1

(2) 2

3) 3

(4) 4

Wﬁ%ﬁﬁmwwﬁﬂm%%aﬁwﬁﬁw,méﬁmﬁ

A Tl T TR E |

B. 3% He® SHTIR T |

C. T HeP SHTR T & |
D. IS i He® IHU=R A8 § |

9 fau e fasedl § T e Iugad STk &1 99 HIfoIE:

1. PadAARC
2. %ada C AR D
3. %HaaAB AR C
4. HATAIRD

1 1

) 2

3) 3

(@) 4

1[Option ID=35613] Question Description : general_paper_genarel paper_set 21_english_q29
2[Option ID=35614]
3[Option ID=35615]
4[Option ID=35616]

Sl. No.30
QBID:21201030

Which of the following arguments is an example of the fallacy of a sadharana (narrow middle term) according to Nyaya (classical Indian

school of Logic)?

1. Sound is non-eternal because it is produced.
2. Sound is eternal because it is audible.
3. Sound is eternal because it is produced.
4, Sound is quality because it is visible,

(1) 1

(2) 2

(3) 3

(4) 4

<A (YR YRA da-0d) & S8R FafeiEad 3 9 &1F - 9 giaa SR (S 0Hes) db-aN 1 U6 340§ 2

1, 4315 TR-=yd & Fif T8 ST e ® |
2. a7 Y% & i U8 g B |

3. @@ 1y © ifr g8 SaA I § |
4. A 70T § T T8 PR Bl § |

1) 1
(2) 2
3) 3
(4) 4

1[Option ID=35617] Question Description : general_paper_genarel paper_set 21_english_q30
2[Option ID=35618]




3[Option ID=35619]
4[Option ID=35620]

Sl. No.31
QBID:21201031

If one MegaByte is equal to 2°° Bytes of computer data storage, then 2048 TeraBytes is equal to bits of
data storage.

B R
[ SR S S
Lh oL s LA
R R e

1)1
(2) 2
3) 3
(4) 4

Iie U TEIge, DY SIET HSRU H 220 §158H & SRI6R Bl dl, 2048 TRIEISCY, SIEl HSRU &
fecd & ST g |

s un
B o=

M
-

da L ko
i:} l-l.-") [ IuIJ
R

(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=35621] Question Description : general_paper_genarel paper_set 21_english_q31
2[Option ID=35622]

3[Option ID=35623]
4[Option ID=35624]

Sl. No.32
QBID:21201032

Which of the following best describes Web 2.0?

1. Static websites
2. Intelligent websites
3. Social media and user-generated web content
4, Hypertext mark-up language
(1) 1
(2) 2
(3) 3
(4) 4

FafafGa d T 519 99 2.0 $TIIYY HIF T quH Bl g 2

1. RR (%few) dauged
2. 3fi dauIEey
3. FINTE HISAT SiR Wwiiedl-si-d dasfasg
4. BTURCHRE Wb 39 ATael
1) 1
() 2
(3) 3
) a

1[Option ID=35625] Question Description : general_paper_genarel paper_set 21_english_q32
2[Option ID=35626]
3[Option ID=35627]
4[Option ID=35628]

Sl. No.33
QBID:21201033




Given below are two statements:
Statement-I: Video cards and sound cards are typical examples of computer software.

Statement-IT: Examples of software utilities include anti-virus software, anti-spyware software and screen
savers.

In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement IT are true.
2. Both Statement I and Statement II are false.
3. Statement I is true but Statement II is false.
4. Statement I 1s false but Statement IT is true.

(1)1

(2) 2

(3) 3

(4) 4

SIEREAICITE
FYF 1 : AMSU DTS 3R TGS Bls IR AFeadR & [AY IaERUI § |

PYT 11 : U] ARy WIIEaTR, U0eT - TIE00R WRaaR 3R b Yoy, SrredaR Suantt axgsii &
SRS ERES
SRIF FYF & A 1, Aid 14U U [a@medl § U Ul SR &1 994 & Tolt:

HYTI IR A T g

PU I IR I T ST

Y [ A &, At U 1 39T B
YT AT 8, AT YT Ia §
@ 1

(2) 2

(3) 3

4) 4

b =

IS Y

1[Option ID=35629] Question Description : general_paper_genarel paper_set 21_english_q33
2[Option ID=35630]
3[Option ID=35631]
4[Option ID=35632]

Sl. No.34
QBID:21201034

Which of the following statements are true ?

A Hypertext links in the WWW are designed to be unidirectional. which means that the destination of a
link may be moved or deleted without the source being notified, resulting in broken links.

B. The Google search engine algorithm is secret, so the general public does not know how the results of a
search are being ranked when presented to a user.

C. Web search engines collect personal data and use that data to target users with customized advertising.

Choose the correct answer from the options given below:

1. Aand B only
2. Aand C only
3.Band C only
4. A, BandC

1

) 2

3) 3

(4) 4




feEffRd I e suTaas.

A. 56y So S H SRR [F U@ - fo=fig 1 8 - Rid g & S s o g 1%
feiep o1 7iden, Fid & Sifigfad fou e fom, Eisd el & uRumeRT $u H, srl-die fear s
HoHdl & 154 Bel AT s g ¢ |

B. T0Td T gui UENRGH 1 gl 6, SHIAU GH= QT 1 9% Udl ol oidl ¢ 1@ [ood] @re (9d) &
GRUTH &1 5Td Yalad] & GHE Wdd [6a1 odl g1 dl f6d YeR 4 34 Ufdaas [ear g |

C. 48 I 35H [oll STeT &1 WU &l § iR 349 312l I HaWHATHR G310 & a1y Aéa
T3t & o TR foa ST g |

i< fau Tt faeedl O 9 el 3R &1 90 dife:

1. FadAARB
2. BT A AR C
3. %aaB AR C
4 A B3RC
1 1

) 2

@3) 3

@) 4

1[Option ID=35633] Question Description : general_paper_genarel paper_set 21_english_q34
2[Option ID=35634]
3[Option ID=35635]
4[Option ID=35636]

Sl. No.35
QBID:21201035

Match List T with List IT

LIST1I LISTII
(Computer Term)| (Description)
A beEG I Standard adopted by the electronic music industry for

controlling devices such as svnthesisers and sound cards.
This format allows the storage of multimedia files rather
than just sound.

[File compression format designed to make photo files
smaller in size for storage and for transmission

[File Compression system for music which does not
Inoticeably affect the qualitv of the sounds.

B. MIDI L

C. MP3 format |11}

D.|MP4 format [TV

Choose the correct answer from the options given below:

1. A-IIT, B-1, C-IV, D-II
2. A-IIIL B-IV, C-1, D-II
3. A-IL B-I.C-IV, D-III
4. A-IV, B-1, C-III, D-II

1) 1

) 2

(3) 3

(4) 4




el 11 gl 11 U e S

A1 T I
(FHR ) @)
gia D i IR gR1 gidaal oY
A [IPEG I.%@ﬂﬁﬁ?ﬁ?maﬂéﬂ?m%@&waﬁ
HAS

18 UTSU - thadl (G &) dfeth Hee[HiTad] Biaal &l
SR 3Rl & |

: DT U&TU WPY HSRU og R Hav0l g AR °
C. [MP3 UIRT Ill-mqﬂ—ﬁﬁ%@ﬁaaﬁﬁ%gmm%l

, [4711d B B3 H&Ul 31 7% Red (Tic) St A6 S
D-MP4 TRT IV aroreren o g i @ el e el & |

19 3T U fad el H ¥ Ul 3R &1 904 DI :

1. A-III, B-1, C-IV, D-II
2. A-III, B-TV, C-1, D-II
3. A-II, B-I, C-IV, D-III
4. A-IV, B-1, C-III, D-II

(1)1

) 2

(3) 3

(4) 4

B. MIDI IL

1[Option ID=35637] Question Description : general_paper_genarel paper_set 21_english_q35
2[Option ID=35638]
3[Option ID=35639]
4[Option ID=35640]

Sl. No.36
QBID:21201036

Non-point sources of water pollution are:

A from specific location
B. diffuse

C. episodic

D. identifiable

E. difficult to monitor

Choose the cotrect answer from the options given below:

.B. Cand E only
A, B and C only
.B.Cand D only
.C.Dand E only
1 1
(2) 2
3) 3
(4) 4

FA-UGH0 & IRfAg HAFIA G |

A foftw safaifa 9
B. fauia

C. NI

D. ¥ (Tgary)
E. 3fdle&l # Bi3Tg

i feu Tt fad el O 9 el 3R BT 90 DIfeid:

1.%adB, C ARE
2. HBAAA, B 3R C
3.%dd B, C 3IRD
4. %9 C,D IRE

1

) 2

3) 3

(4) 4

O




1[Option ID=35641] Question Description : general_paper_genarel paper_set 21_english_q36
2[Option ID=35642]
3[Option ID=35643]
4[Option ID=35644]

Sl. No.37
QBID:21201037

Which of the following are biofuels?

A, Gasoline
B. Methanol
C. Methane
D. Ethanol

Choose the correct answer from the options given below:

1. A, Band C only
2.B.Cand D only
3.Band D only
4. Aand D only
1 1
(2) 2
3) 3
(4) 4

FRfeRad ®1 A age 8 2

A T EE
B. BYATA
c. Hiq

D. TyEIda
i feu e famed] § 9 gl 3R &1 994 BT

1.HaAA, B HR C
2.$ad B, C 3R D
3.%ad B AR D
4.Pad A RD
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=35645] Question Description : general_paper_genarel paper_set 21_english_q37
2[Option ID=35646]

3[Option ID=35647]
4[Option ID=35648]

Sl. No.38
QBID:21201038

Given below are two statements:

Statement-I: International Solar Alliance's present post of President is held by India.
Statement-II: The United States of America is not a member of International Solar Alliance.
In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement IT are true.
2. Both Statement I and Statement II are false.
3. Statement [ is true but Statement II is false.
4. Statement I 1s false but Statement II 1s true.

1)1
(2) 2
(3) 3
(4) 4
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FYT 1 : URA SHRTT TR TE6 $T aa0H T S84 T |

PYUF 11 : GGord o4 3R] SIRIPIY R T3EY P11 UD HG- 6l 5 |
TIRIK DY & 3fTale H, 4 3 Y fasedi § Hel SR 31 987 DIfE:

HYF AR 9d B |
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(1) 1

(2) 2

3) 3

4) 4
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1[Option ID=35649] Question Description : general_paper_genarel paper_set 21_english_q38
2[Option ID=35650]
3[Option ID=35651]
4[Option ID=35652]

Sl. No.39
QBID:21201039

Given below are two statements:

Statement-I: United Nations Framework Convention on Climate Change (UNFCC) was framed during Kyoto
Protocol, 1997,

Statement-II: Kyoto Protocol set up different limits of carbon emissions for individual nations, depending on
their output before 1990.

In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement IT is false
4, Statement I is false but Statement II is true

1)1
(2) 2
(3) 3
(4) 4

TP

FYTI : GYFRRIY STary URGd eia SiLhag (g U U i ) 176 iel WIcipld 1997 & J54
gAY |

FYT 11 : NI UISTDId - ST b ay 1000 P Ud G4 gRI [+1id U T & YR UR PIa- Feqoi Pl
- firm I qg &1 off |
IRIF YA & TS H, i S0 ITU f[dhed] T Tt IR 1 99 DI

B AR 9 B

HYT I IR 11T A

YT G 8, AT SYT I 3T 2
Y1 A &, AT PUT I FA B
1) 1

) 2

3) 3

(4) 4

R

1[Option ID=35653] Question Description : general_paper_genarel paper_set 21_english_q39
2[Option ID=35654]
3[Option ID=35655]
4[Option ID=35656]

Sl. No.40
QBID:21201040




Match List T with List IT

LISTI LISTII
(Pollutant) (Source)
A [Lead I. |Coal combustion
B. Mercury II. |Barteries
C. [Benzene II1. [Paint
D. [Cadmium IV, [Petrol

Choose the correct answer from the options given below:

. A-III, B-1, C-IV, D-II
. A-IIL B-1, C-I1, D-TV
ATV, B-II1, C-I1, D-1
ATV, B-1, C-II1, D-II
11
) 2
(3) 3
(4) 4

Yt 1h 91 Y1 11 1 e Hifore

R

=

A [girEm I |[@Ed el
B. [URI I [§efdr

C. [doiHF 1L [0

| D [Frsfimm IV_[deTd

FafaRad fadeal # U 9l 3R &1 994 Sifoe

CA-IILL B-I C-IV, D-TI
. A-ITT, B-1. C-I1, D-IV
.A-IV, B-III, C-11, D-1
.A-IV, B-1, C-III, D-II
(1) 1
(2) 2
(3) 3
(4) 4

B R S B

1[Option ID=35657] Question Description : general_paper_genarel paper_set 21_english_q40
2[Option ID=35658]
3[Option ID=35659]
4[Option ID=35660]

Sl. No.41
QBID:21201041

Which of the following are the main focus areas of Unnat Bharat Abhiyan (UBA)?

A Holistic development of rural clusters

B. Reorient the academic curricula and research programmes in Higher Education Institutions to align them
with development of local community.

C. Enable effective intervention at the field level

D. Inculcate the moral values.

Choose the correct answer from the options given below:

1. A, B and C only
2.B and D only
3. Aand C only
4.A.BCandD
(1) 1
(2) 2
3) 3
(4) 4
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A. TTHI0T GHET &1 9HY fqhTd

B. S0 Y& SR H STt Urea=ai SR XY STUHH &I TRIYTE AT dlics 35 RIFT
fgenTd o H1Y SIS] ol 9 |

C. 9 &R (Pies daa) TR UHIG! U8 (SEX0-81) Bl aH BT |

D. Aifi® gedi &) 54 8 961

i< fau ¢ fasdeul & ¥ Il IR &1 994 Diforg:

1. FAAA, B 3R C
2. %ada B AR D
3. PaAAIRC
4.A.B, C3RD

1

() 2

(3) 3

@) 4

1[Option ID=35661] Question Description : general_paper_genarel paper_set 21_english_q41
2[Option ID=35662]
3[Option ID=35663]
4[Option ID=35664]

Sl. No.42
QBID:21201042

Which of the following are the Central Universities of India?

A. Nagaland University, Nagaland

B. Acharya Nagarjuna University, Andhra Pradesh
C. Sikkim University, Sikkim

D. Manipur University, Manipur

E. Guwahati University, Assam.

Choose the most appropriate answer from the options given below:

1.B.D and E only
2.A, Cand D only
3.A.B.Cand E only
4. C.D and E only

(1) 1

(2) 2

(3) 3

4) 4

fFofefEd o 9 o9 ¥ URd & Sy fayfaea g 2

A. TS fayfaenam, Armds

B. 31T ARG f[ayfaemem, siswew
c. Fafawy fayldeem, ass

D. HUTQR fayfaercey, AforgR

E. T[dIeIe] fasfaam, s/as

i fau e faeedi # ¥ a8 Sugad STk &1 99 BHifoie:

1.$ad B, D IR E
2. FAAA, C HRD
3.%ad A, B, C IR E
4.%adC, D IARE
1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=35665] Question Description : general_paper_genarel paper_set 21_english_q42
2[Option ID=35666]

3[Option ID=35667]
4[Option ID=35668]
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Given below are two statements:

Statement-I: University Grants Commission (UGC) became a statutory organization of the Government of
India by an act of Parliament in 1956,

Statement-II: National Council of Educational Research and Training (NCERT) is an autonomous organization
set up in 1961 by the Government of India.

In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement II are correct.
2. Both Statement I and Statement I are incorrect.
3. Statement I is correct but Statement II is incorrect.
4, Statement [ is incorrect but Statement II is correct.
1 1
@) 2
(3) 3
(4) 4

TR FE e

YT 1 : [qYTITT SIS SN (G,5113) 1956 T HHS & o HUTHIH ERI YR TR B Th
ifaiee F1a= & 741 |

HYT 11 : YRA TIBR GRI 1961 T R AP1a Qe o™ vd wikiam uieg (@A g, oR. &) s
W H6 7 |

SRIF HYF & 3D . 59 Ru T famed & 9 Jad IugaR SR 31 997 DI

DY IR 11 S T B
HYF IR I TAd
. HYF 1 9l 8. Ifthd YT 11 Tad B
.Y 1 T 8, b $U 11 T8T B

1) 1
(2) 2
3) 3
(4) 4

[

JEEN )

1[Option ID=35669] Question Description : general_paper_genarel paper_set 21_english_q43
2[Option ID=35670]
3[Option ID=35671]
4[Option ID=35672]

Sl. No.44
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During Celonial period veterinary colleges were opened in:

A, Lahore in 1832
B. Bombay in 1882
C. Calcutta in 1843
D. Delhi in 1899,

Choose the most appropriate answer from the options given below:;

AB.CandD
.Aand B only

. A and D only
A, Band Conly
1

) 2

3) 3

(4) 4

L




SRS H1a & aRH fa ux-Rfeen Teifaemey @id T a2

A 1832 HeR T
B.1sg2 Haas |

C. 1843 Fapal d
D. 1899 H et &

9 feu e fasedl § T e Sugad STk &1 997 HifoiE:

1.A.B.C3RD

1[Option ID=35673] Question Description : general_paper_genarel paper_set 21_english_q44
2[Option ID=35674]
3[Option ID=35675]
4[Option ID=35676]

Sl. No.45
QBID:21201045

During ancient period in India which of the following universities developed in connection with temples and became centers
of community life in places of their location?

A. Odantapuri
B. Navadeep
C. Valabhi

D. Banaras

Choose the most appropriate answer from the options given below:

. Aand B only
.B and D only

. C and D only

. A, Band C only
1 1

(2) 2

3) 3

(4) 4

T STd & 4R YRd 8 FEfeiEd o 9 o1 ¥ [ayfaeney 0ieRl & 9y ddy & 3 ¥ [9eiid gu oiik
YT AT & I H AT ol &1 dg & 2

A ST
B. Tadly
C. aaHl
D. §9RH
- feu U el 1 § 9ed SUgad SR &1 99 BIeTE:

1. FadAARB
2. %adaB AR D
3.%dd € IRD
4. BATA, B 3R C

1) 1

() 2

3) 3

@) 4

B O R
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Read the passage and answer the question given below :

Aware of the high stakes involved in seizing control over the Indus for navigation, the British persuaded two
Sindh amirs, Rustam Khan, the Amir of Khanpur and Murad Ali of Hyderabad, to enter into a one-sided treaty
and as proxies to throw the Indus open to the British Military and political penetration. Under the treaty,
signed reluctantly by the Sindh amirs, the British obtained the right to take the final decision regarding
taxation duties on goods passing through the Indus to the Arabian Sea. This was a variation of a gun-boat
diplomacy with which the advancing British seized the veto in their hands to control the entire trade flow from
Central Asia to Sindh and thereby the right to manipulate the economies of the regions and the states,
including that of Ranjit Singh whose removal was not on their agenda.

The next step was to coerce Ranjit Singh to sign the treaty. opening Sutlej to commerce as well. The British
agent. Captain, Wade, told the Maharaja that the expansion of trade in his (the Maharaja's) dominions would
result only after singing the treaty. But the British agencies had disrupted the economy of the Sikh state by
imposing a heavy toll of Rs. 570 on the boats carrying large loads. This included the pashmina shawl output
from 20,000 looms that were operating in Kashmir. The shawls were exported mainly to the European market,
especially France, where they posed stiff competition to woollen manufacturers from Britain.

fgfafad meiw o ufed iR wy &1 3w I |

A & forg Rie] R (g0 Riftd &3 9 g ard fedardl &1 o-d U Siel = Ry & & siRi, @R
¥ 3R T T 3R Sex1aTE & RIS St BT TP &g T H=- iR uRieht e F F=u d
fafew ST SR ToFifae vaw & o R o Gias & forg et

R & SRI GRT S=0T0d® Txa1&R [T 71U 59 THsid & dgd iUl &l Ry ¥ 3RE AR 31 3R
oI aTel! avg3fl TR BRI el & day T g Fu @7 &1 AfeR Ui g1 741 | g8 diard A1d
eI BT SUTavul U1 fora S 9gd gu Siiet = g Uik 3 Ry 9@ giH aTe 990 oTR &) Fafa
PR P (oY (NITBR (dieh B SIS 304 g1l 3  fordl SR 39 gR1 34 &3 3R I41 &1
srforae1stt i o0 fBdl & ST a9 31 ISR i Wi S o | 57 Iuriarig @1 srioraw off
A ot ] Ta BT 3@ 39! B I (Tolsn) T o7 |

BATAT B H WoiTd RIE H Jdadl &I IR & [o7d Gid- 95 THA IR SWIER T & (o 918 HA1 Ul
| fsfewr Uoie HP- 98 - HeRIoN I &gl [ 9Hsid IR 8WIER &R 3 a4 ol 3% (HGRTUM) & a0
gl &7 § o1UR & [dIR §R1 | 03 fefe wolf¥dl 3 sranias 58 9| o S ardl A1dl O 570 3. &1
YR = SRRITIT PR e o9 3t srfoqawyt &1 fqufed & a1 o1 | 598, SRR § S & o1 %
20,000 efT T TR YTe BT FedTa T MR o1 | 57 2Tl 1 Gy 9 R SR, fa=e wid,
! (afd oo o1an o1 | 61 374 foeq & S+t faain o Hof wiowef fedt o |

Given below are two statements:

Statement-I: The Pashmina shawls were quite popular in Europe.
Statement-II: The British made it easy for Kashmiri manufacturers to export the Pashmina shawls to Europe.
In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are correct.
2. Both Statement I and Statement IT are. incorrect
3. Statement [ is correct but Statement II is incorrect.
4. Statement I 1s incorrect but Statement II is correct.
1 1
(2) 2
(3) 3
(4) 4

RIEEEAIEACURINES
BYT1 : TYHAT WS gAY H BB AByg o |
YT : 3G A HRAR] faafarsd & forg 719 § u=ndi=1 2iTd &1 Hafd S1 S aE a9m |

SRIKT DY D 3l H, i f4U T fdpedl & I Ga8 Iugdd SR DI TG HIorg:

1. BYF 1 AR 11 3 9al B
2. BYI AR 11 GHI Tad g
3. HUT I el §. Afde HYF 11 7T6d 3
4. BY 17T &, AT HYUT 11 TeT B

(1) 1
) 2
(3) 3
(4) 4
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2[Option ID=35682]
3[Option ID=35683]
4[Option ID=35684]

Sl. No.47
QBID:21201047
Read the passage and answer the question given below :

Aware of the high stakes involved in seizing control over the Indus for navigation, the British persuaded two
Sindh amirs, Rustam Khan, the Amir of Khanpur and Murad Ali of Hyderabad, to enter into a one-sided treaty
and as proxies to throw the Indus open to the British Military and political penetration. Under the treaty,
signed reluctantly by the Sindh amirs, the British obtained the right to take the final decision regarding
taxation duties on goods passing through the Indus to the Arabian Sea. This was a variation of a gun-boat
diplomacy with which the advancing British seized the veto in their hands to control the entire trade flow from
Central Asia to Sindh and thereby the right to manipulate the economies of the regions and the states,
including that of Ranjit Singh whose removal was not on their agenda.

The next step was to coerce Ranjit Singh to sign the treaty, opening Sutlej to commerce as well. The British
agent, Captain, Wade, told the Maharaja that the expansion of trade in his (the Maharaja's) dominions would
result only after singing the treaty. But the British agencies had disrupted the economy of the Sikh state by
imposing a heavy toll of Rs. 570 on the boats carrying large loads. This included the pashmina shawl output
from 20,000 looms that were operating in Kashmir. The shawls were exported mainly to the European market,
especially France, where they posed stiff competition to woollen manufacturers from Britain.

fgfefad Teie o ufed iR Uy &1 3w SIS |

T % fer e TR (01 Rftd & 9 81 ard fedardl &1 o-d §U 3iUel - Ry & & SRl @FgR
& R SXTH WH IR FEREIE & TS 3icll B Ud gaita IHeial H=- ok Rieft oredh & = o
fofew @l 3R IorHifas yaw & fore [y o1 @a- & fore ol faar

iy & SRI gRT A =STqde SXAR BT 10 38 F0eld & a8 3ol 31 Ry 9 3RT IRR 31 3R
oI aTal! aeq 3l TR BRI Yol & Yay T 3ifcq o &7 &1 SifeeR Ui g1 741 | g8 digare A1d
eI BT FUIaR0l U1 fora S 9gd gU Sitial 2 3 Uik 9 Riy 9o §H ard 9901 IR &1 Fafa
P & (g FeufieR @lel) & SR 0= g1l 7 & fom ok 39% R34 & 3R Isai &t
Srfoaaed1adl &1 o fgdl & =Y a9 &I AEHR 1 U1 H [T | 3798 ianis &1 sreieawi o
T off o] TH =1 31d 390! B 4l (Tolsn T o7 |

AT HGH I0MGild e B Jdarol Dl GIR P U Gia- & THAd TR THIER HIA P [o7g 919 B Ul
| fsfe=r USie PP 98 - HeRIe I $gl [ 909 IR §X1ER B P 918 61 3% (HGRIUM) & FHu=0r
91 &4 § AIUR 1 [d%IR 811 | 93 fefew ToiRil 3 sranias 59 9\ o S gl 5dl 9= 570 2. @1
YR 5% RRIUT = Ryaw Ieg ot srferawr &) faufed o= foar o | 598, HedR & Yanfod s s e
20,000 BT I TR WTd BT Icare i WEE o7 | 37 Wil & GBI 9 WU SeR], fava i,
ot Fraia forar orar or | o8t 37 e & St fafamion &1 o2t ufoegef e o 1

Given below are two statements: One 1s labelled as Assertion A and the other is labelled as Reason R:

Agsertion-A : The British wanted Ranjit Singh to sign the treaty.
Reason R: The British wanted to control the trade through the Indus.
In the light of the above statements, choose the correct answer from the options given below:

. Both A and R are true and R is the correct explanation of A,

. Both A and R are true but R is not the correct explanation of A,
3. Ais true but R is false.
4. Ais false but R is true.

(1) 1

(2) 2

3) 3

(4) 4

1 &1 PU= UL §: TP MUBUA (Assertion A) F =9 1 [RET © I THRI 3HP DRUI (Reason R) D
Fqﬁ

b2 o=

UPYT A ; 37 T84 ¥ oh Tureid Rig Iosid 9= 5er &9 |
WRUTR : 30, Yy & SIRY AUR & FaEd s 9ed U |
IRIF FY & HATld 1, 99 [JU T fawedi O I Gg1 IR &1 994 BHifog

ASRRIAITIR ARR, AT TR TRATR |
AMRREIAITIE, AR, AT U IR TR © |
AYIR, AfGR IFTE |

AT, AfFTRITE |

[

e L




(1) 1

(2) 2

3) 3

4) 4

1[Option ID=35685] Question Description : general_paper_genarel paper_set 21_english_q47
2[Option ID=35686]

3[Option ID=35687]
4[Option ID=35688]
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Read the passage and answer the question given below :

Aware of the high stakes involved in seizing control over the Indus for navigation, the British persuaded two
Sindh amirs, Rustam Khan, the Amir of Khanpur and Murad Ali of Hyderabad. to enter into a one-sided treaty
and as proxies to throw the Indus open to the British Military and political penetration. Under the treaty,
signed reluctantly by the Sindh amirs, the British obtained the right to take the final decision regarding
taxation duties on goods passing through the Indus to the Arabian Sea. This was a variation of a gun-boat
diplomacy with which the advancing British seized the veto in their hands to control the entire trade flow from
Central Asia to Sindh and thereby the right to manipulate the economies of the regions and the states,
including that of Ranjit Singh whose removal was not on their agenda.

The next step was to coerce Ranjit Singh to sign the treaty, opening Sutlej to commerce as well. The British
agent, Captain, Wade, told the Maharaja that the expansion of trade in his (the Maharaja's) dominions would
result only after singing the treaty. But the British agencies had disrupted the economy of the Sikh state by
imposing a heavy toll of Rs. 570 on the boats carrying large loads. This included the pashmina shawl output
from 20,000 looms that were operating in Kashmir. The shawls were exported mainly to the European market,
especially France, where they posed stiff competition to woollen manufacturers from Britain.

fgfefad Teie o ufed iR Uy &1 3w SIS |

1T 3 e e TR (=0 Rftd &3 9 g1 aTd fedardl &1 o-d §U Sitel - Ry & & iRl =g
& IR TXTH WH IR TG B TS 37t B U vafta IHsial H=- 3R wRieft o) & =u o
fofew @l 3R IorHifas yaw & fore [y o1 @a- & fore ol faar

Ry & SiRT gR1 SHf-=sTqd e TxaR T 71U 39 90=id & ded US| & Ry 3 3RE IrR 1 3R
ToRA aTelt a¥gsil IR S Yool & Ja F sifoq FHofa a7 31 sifeR ure 81 T | 9 diared A
eI BT FUTavol U1 fora S 9gd gU Sitial 7 4 Uik 9 Riy 9o §H ard 990 IR &1 Fafa
F & (g FeufieR @lel) & SR o= gl 7 & fom Sk 39% R34 & SR Iwai &t
Srfoaaed1adl &1 o fgdl & =Y a9 &I AEHR 1 U1 H [T | 3798 ianis &1 sreieawi o
e off foTIe] THI A1 316 370! B 4l (Tolsn T o7 |

AT HGH I0MGild 138 BT Fdaol Dl GIR D [0 Gia- & JHAd R THIER HI D [o7g 91 B Ul
| fsfe=r USic $P 98 = HeRIe I gl [ 90 IR §XER B P 918 61 3% (HGRIUM) & FHu0r
qTel &4 § oAIUR D1 [d%IR 81T | 93 fefew woiiRl 3 sraniae s 9| o S arl 1dl 9 570 3. @1
YR % fRRIUT = Ryeg 3eg ot srferawyr &) fqufed o= foar o | 598, SR & Yeanfed s s e
20,000 BT I TR WTd BT Jcare f WHS o7 | 37 Wil &I GBI 9 WU SeR], faLvas i,
ot fFaia forar omar or | o8t 37 e & St fafamion 1 o2t ufoegef e o 1

Who were persuaded by the British to enter into a treaty with them?

A Rustam Khan
B. Murad Ali
C. Ranjit Singh

Choose the most appropriate answer from the options given below:

.Aand B only
.Band C only
Aand C only
A, Band C
1) 1

(2) 2

(3) 3

(4) 4

J-‘-S.NI\JI—A




3T GRT {39 Q1Y gHeliar @3- & forg 3ol foear T 2

A TEHEH
B. XIS 3fcfl
C. Iureid 58

4 fau e faeedt # ¥ e Sugad SR &1 99 BHIfoie:

1. Hadd A 3R B
2. %HaAB AR C
3. PaAANRC
4 A B3RC

) 1

() 2

@3) 3

(@) 4

1[Option ID=35689] Question Description : general_paper_genarel paper_set 21_english_q48
2[Option ID=35690]
3[Option ID=35691]
4[Option ID=35692]
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Read the passage and answer the question given below ;

Aware of the high stakes involved in seizing control over the Indus for navigation, the British persuaded two
Sindh amirs, Rustam Khan, the Amir of Khanpur and Murad Ali of Hyderabad, to enter into a one-sided treaty
and as proxies to throw the Indus open to the British Military and political penetration. Under the treaty,
signed reluctantly by the Sindh amirs, the British obtained the right to take the final decision regarding
taxation duties on goods passing through the Indus to the Arabian Sea. This was a variation of a gun-boat
diplomacy with which the advancing British seized the veto in their hands to control the entire trade flow from
Central Asia to Sindh and thereby the right to manipulate the economies of the regions and the states,
including that of Ranjit Singh whose removal was not on their agenda.

The next step was to coerce Ranjit Singh to sign the treaty. opening Sutlej to commerce as well. The British
agent, Captain, Wade, told the Maharaja that the expansion of trade in his (the Maharaja's) dominions would
result only after singing the treaty. But the British agencies had disrupted the economy of the Sikh state by
imposing a heavy toll of Rs. 570 on the boats carrying large loads. This included the pashmina shawl output
from 20,000 looms that were operating in Kashmir. The shawls were exported mainly to the European market,
especially France, where they posed stiff competition to woollen manufacturers from Britain.

fgfafad meiw &1 afed 3R Uy &1 3w I |

=TT & for e TR (=01 ®ftd &3 9 g dTd fedardl &1 o-d U Siel - Ry & & iRi, =g
¥ 3R TXGH T 3R EeRTEIE & RIS St 31 UP Ueiy JHEia e SR uRieht (e & F=u o
fafew Al 3R IoHifas yaw & fore Ry o1 @ & fore ol faar)

f3e & iR gRT S TBTgd® Be1er fart 10 59 THsid & ded Sifis) &f Ry I ord AR &t 6l
oA aTell avg3fl R BRI Yol & Yao T iy FHoia &7 &1 SAfeR uied 81 741 | g8 dard A1d
Pe-iTcl BT IR AT ORI ST ggd §U i - Hen Ui 3§ Ry 9% §iF aTd 990] oT9R & b
P P forg FuufieR (diel) & SR o= g1l 3 4 fom SR 39 gR1 34 & 3iR i
SicaaRIadl @1 o0 fBdl & =1 a9 B AHR 1 U HR o | 598 usiianis @1 sreieaw o
ST off foTe] TaTd BT 31d 39! Bl Il (Tolsn F o7 |

AT HGH IUTGid 8 B Jdasl dl dUR & (AU i & GHAd R SWIER B & (o a1 BT Ul
| ffew Toie $p= 98 = HERIST @ $gl i 9usid TR §&I&R B & 916 8] 3% (HER10M) & gz
aret &3 H IR o fa%dR 811 | 93 feifewr geifydl 3 sreanfeie &8 |EE o ofiH arei H1dl U 570 3. 1.
YRY % IfERITT T Ryeg 3oy o3t srforawyr &) fqufed &= foar o | 598, ek & Yanfod fes s e
20,000 ST I GRIHHT XTel BT Icare +ff T o1 | 37 Wial &1 GBIy 9 TUY eR], AR Wi,
! fafd o smar ur | 918t 399 faea & St fafaaio & st ufawget fHedt o |

Given below are two statements:

Statement-I: The Sindh amirs were quite pleased and willing to sign the treaty with the British.
Statement-II: Controlling the navigation through the Indus was high on the British agenda.
In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct.

2. Both Statement I and Statement II are incorrect.

3. Statement I is correct but Statement II 1s incorrect.
4, Statement I is incorrect but Statement II is correct.




(1) 1
(2) 2
(3) 3
(4) 4

-9 &l Py Ry U &

FYT1: Ry D iR, ST & T T R EHER B & R S15] 0oa iR g5 ¢ |
FYF 11 : Ry & SR 7180 R oo o1 6o tois § v = @a ot |

SWRIK HUH & 3Tl H, i fqu T fadeul & I 99 Iugdd STk &1 94 Hifort:

. PYF 1 3R 11 g4 9El €

HYT I AR 1A Tad

FHYT 1 el B, A Y 11 TEd o
. HYF 1 7TAd ©, b HUT 1 Fal B

1) 1
(2) 2
(3) 3
(4) 4
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Read the passage and answer the question given below :

Aware of the high stakes involved in seizing control over the Indus for navigation, the British persuaded two
Sindh amirs, Rustam Khan, the Amir of Khanpur and Murad Ali of Hyderabad, to enter into a one-sided treaty
and as proxies to throw the Indus open to the British Military and political penetration. Under the treaty,
signed reluctantly by the Sindh amirs, the British obtained the right to take the final decision regarding
taxation duties on goods passing through the Indus to the Arabian Sea. This was a variation of a gun-boat
diplomacy with which the advancing British seized the veto in their hands to control the entire trade flow from
Central Asia to Sindh and thereby the right to manipulate the economies of the regions and the states,
including that of Ranjit Singh whose removal was not on their agenda.

The next step was to coerce Ranjit Singh to sign the treaty, opening Sutlej to commerce as well. The British
agent, Captain, Wade, told the Maharaja that the expansion of trade in his (the Maharaja's) dominions would
result only after singing the treaty. But the British agencies had disrupted the economy of the Sikh state by
imposing a heavy toll of Rs. 570 on the boats carrying large loads. This included the pashmina shawl output
from 20,000 looms that were operating in Kashmir. The shawls were exported mainly to the European market,
especially France, where they posed stiff competition to woollen manufacturers from Britain.

fgfefad Teie o ufed iR Uy &1 3w SIS |

T % fer e TR (01 Rftd & 9 81 ard fedardl &1 o-d §U 3iUel - Ry & & SRl @FgR
& R SXTH WH IR FEREIE & TS 3icll B Ud gaita IHeial H=- ok Rieft oredh & = o
fofew afel 3R IoHifas yaw & fore [y &1 @ia- & fore o faan

iy & SRI gRT A =STqde SXAR BT 10 38 F0eld & a8 3ol 31 Ry 9 3RT IRR 31 3R
oI aTal! aeq 3l TR BRI Yol & Yay T 3ifcq o &7 &1 SifeeR Ui g1 741 | g8 digare A1d
eI BT FUIaR0l U1 fora S 9gd gU Sitial 2 3 Uik 9 Riy 9o §H ard 9901 IR &1 Fafa
P & (g FeufieR @lel) & SR 0= g1l 7 & fom ok 39% R34 & 3R Isai &t
Srfcaaetail &1 o= fgdl & U a9 &I AHR Ui T HR [T | 3798 0ianis &1 sreieawi o
T off o] TH =1 31d 390! B 4l (Tolsn T o7 |

AT HGH I0MGild e B Jdarol Dl GIR P U Gia- & THAd TR THIER HIA P [o7g 919 B Ul
| fsfe=r USie PP 98 - HeRIe I $gl [ 909 IR §X1ER B P 918 61 3% (HGRIUM) & FHu=0r
91 &4 § AIUR 1 [d%IR 811 | 93 fefew ToiRil 3 sranias 59 9\ o S gl 5dl 9= 570 2. @1
YR o3 RRIUT = aw Iog ot srferawyr &) faufed o= fear ur | 598, HedR & Yanfod fe s e
20,000 BT I TR WTd BT Icare i WEE o7 | 37 Wil & GBI 9 WU SeR], fava i,
ot Fraia forar orar or | o8t 37 e & St fafamion &1 o2t ufoegef e o 1




Given below are two statements: One 1s labelled as Assertion A and the other is labelled as Reason R
Assertion-A : The British wanted to control the navigation routes through the rivers.

Reason R: Rivers were used for trading goods and the British found it lucrative to make profit by controlling
the trade.

In the light of the above statements, choose the correct answer from the options given below:

1. Both A and R are true and R is the correct explanation of A.
2. Both A and R are true but R is not the correct explanation of A.
3. Aistrue but R is false.
4. Ais false but R is true.
(1) 1
(2) 2
3) 3
(4) 4

19 &1 U= U L §: TP MUHUA (Assertion A) & =9 1 [IRGT © ol THRI 3HP HRUI (Reason R) &
=0

SfUBYT A : 3 ATl & 71997 § F@ 97 R Fran s aed U |

HROIR : AT BT SRS, THISH BT AR B & (078 [T SI1aT T 3R AR TR =0 i0d o1
TS SHEI S BT ATHYE 0 |

IR P & TP 1, 1 U U faeed § 9 Tel 9wk &1 994 Sifere

LAJRREATTTE 3R R, AP Tel ARSAT B

A 3R R EH TSl €, AfBTR, A DI TS AR 81 ¢
ATIEAPIR 3T
AITIE AP RTTRI

1

@ 2

3) 3

(4) 4
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YT & &0 H -3f@sfi- &1 Uyd gan fog = | fiaar g2

1. @i dR1
2. ik Hfdd U]

3. gag
4. TRTTG
(1)1
(2) 2
(3) 3
(4) 4
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